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BACHELOR'S DEGREE PROGRAMME / 
CERTIFICATE PROGRAMME IN TEACHING OF 
PRIMARY SCHOOL MATHEMATICS (C.T.P.M.) 

Term-End Examination 

June, 2011 

(APPLICATION ORIENTED COURSE) 
AMT-01 : TEACHING OF PRIMARY SCHOOL 

MATHEMATICS 

Time : 3 hours 	 Maximum Marks : 100 

Note : Question no. 1 is compulsory. Attempt any S questions 

from question 2 to question 10. 

1. 	(a) 	Neera is an air hostess. Give two different 	4 
mathematical concepts she uses in her 

profession. Justify your answer. 

(b) Devise two activities to explain the 	4 
difference between 6/7 and 7/6 to class 4 

children using : 

(i) Concrete objects 

(ii) Paper folding. 

(c) 	List two errors children make while 	4 
measuring angles. How would you help 

them overcome these ? 
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(d) Give two different word problems for each 	4 

of the two statements below. 

(i) 	2 + 5 = 7 	(ii) 35 — 18 = 17. 

(e) Give four word problems of multiplication, 	4 
each illustrating a different type of context. 

2. (a) List any two pre - requisite skills for 

counting. Explain, with an example each, 

why these skills are considered pre -

requisite for learning counting. Describe 

one activity to evaluate children's ability to 

count. 

2 	2 	3 
(b) Pictorially show 	of of 4 and 3 of 3. 

3. (a) Explain the significance of the concept of 	6 
'whole' for learning fractions. Describe two 

activities to help class 4 children learn the 

relationship between part and whole. 

(b) List four models of word problems related 	4 

to subtraction and give an example of each. 

4. Explain and illustrate the E - L - P - S sequence in 10 

the context of learning the addition of decimal 

numbers. Develop a lesson plan for teaching and 

evaluating the addition of decimal numbers using 

the E - L - P - S sequence. 

6 

4 
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5. (a) 	List any three spatial concepts for each 	6 

concept describe an activity to help children 

learn it. 

(b) Explain the concept of a variable with the 
	4 

help of two suitable examples. 

6. (a) What does 'area' mean ? Give one common 	6 

misconception that children have about 

'area'. Design an activity to help the 

children correct this misconception. Also 

describe an activity to help children 

understand that different figures may have 

the same area. 

(b) 	Describe two distinct activities that you 	4 

would use for assessing a child's 

understanding of place value. 

7. (a) Why do children have problems while 	6 

carrying out subtraction sums involving 

borrowing ? Describe two different 

activities which you would organise to help 

them. 

(b) Give two examples from different areas of 	4 

mathematics to show the movement from 

particular to general. Is this movement the 

same as moving from concrete to abstract ? 

Why ? 
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8. 	(a) Create an activity using coins to help 	6 

children learn how to add signed numbers. 

How would you evaluate the success of this 

activity ? 

(b) (i) 	What is an algorithm ? 
	

4 
(ii) Give an algorithm for division of 

numbers and explain the logic 

involved in it. 

9. 	(a) Classify the following statements as True or 	6 
False. Give reasons for your choice. 

(i) Children know no mathematics when 

they enter formal school. 

(ii) To understand number children must 

be able to classify and order. 

(iii) The ability to conserve is fundamental 

to the development of mathematical 

thinking. 

(b) Give an example, with justification, of a 	4 
two - dimensional (planer) figure with : 

(i) no axis of symmetry ; 

(ii) exactly two axes of symmetry. 

10. (a) "A father is 30 years older than his son. 	6 

20 years ago the father's age was 4 times that 

of his son. How old is the father now ?" 

Solve this problem by two methods : 

(i) Using algebra 

(ii) Without using algebra. 
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(b) Sonam solved a problem in the following 	4 

manner : 

Hours Minutes 

4 49 

2 53 

7 02 

What is the reasoning she could have used ? 

How would you help her understand the 

error she has made ? 
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